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1. Which of the following pairs are correctly matched ?
i. Afonso de Albuquerque — Policy of ‘mixed colonies’

ii. Admiral Van Rheede — French Admiral

iii. Dr. Alexander Orme — Hortus Malabaricus

iv. Mahe Labourdonnais — The Treaty of Venad

A) Only i B) ii and iii C) Only iii D) i andiii

2. Read the following sentences and choose the correct answers from the codes given below.

i. The British focused on the expansion of Indian territory, starting with Bengal in the
Battle of Plassey in 1757.

ii. Doctrine of Lapse was one main means by which Lord Cornwallis extended the
British empire in India.

iii. Charles Metcalf is known as the liberator of the Indian Press.
iv. James Augustus Hickey is often referred to as the ‘Father of Indian Journalism’.

Codes :

A) i, ii and iii only B) ii and iii only

C) i, iiiand iv only D) All of the above

3. Which of the following pairs are correctly matched ?

i. Habeas Corpus — ‘Social Contract’

ii. Stamp Act — George Grenville

iii. Jean Jacques Rousseau — ‘To have the body’

iv. Hanko Incident — Lee Yuwan Hung

A) Only i B) iiandiv C) Only iii D) iandiii

4. Which of the following statement(s) is/are incorrect ?
a. Nagaland became the first State to implement disaster insurance in India.
b. As of 2023, the revised prize money for Nobel laureates is 13 million Swedish
Crowns.

c. Rashtriya Vigyan Puraskar is a new award introduced to honour scientists in India.
India’s HS Prannoy finished runner-up in the Australian Open Super 500 Badminton
Tournament.

A) Statement b and c are incorrect, a and d are correct
B) Statement a, b, ¢ are incorrect, d is correct

) Statement b and d are incorrect, and a and c¢ are correct
D) Statement b is incorrect, and a, ¢ and d are correct

o

5. Consider the following statements about temperature inversion.

1. Temperature inversion can trap pollutants close to the ground.

2. Temperature inversion typically occur during clear nights with calm winds.

3. Temperature inversion result in cooler temperatures at higher altitudes compared

to lower altitudes.

Which of the above statements are correct ?

A) 1 and 2 only B) 2 and 3 only

C) 1 and 3 only D) 1,2and 3



127/24 -T

1. Lﬂmm@w Camg safley 618 FMWMSL @urr@ggy@pgy?

I. o CunetCam 19 6oL HiT — ‘sl stovalseller 0%merens
ii. <y 10gev eumest L — 190 7ehE L LAlged
iii. LméLi yClevsgner i @G — CanmiLev eLimisev
iv. rGan CawurGL renesan — Geuewrml” eUiLIpsLD
A) i Gb B) i opmyb i C) iii o @b D) i opmyeb iii

2. esteupLd eundSwnisearts L sg, G Osr1RSsLILL (Rerear &pluf(bhsefed)bhs
Filwner LBvsmars Csinh0)%(HE%Ha L.
i. 9m&Covwiser 1757-@)ev Llarrd Cumfled eumistars@ed Osm_miG) @)bFwiLs
u@g@uilesr allfleunsssFev Heauetid OlFeisF .
ii. eomil smicreunedleov @ BGwmalled LML 196y Frbgr@wsens allfleyuBSH @b
wWEFw auflpenpwns s Mer oot Cevlien @)hbssl.
iii. Fmieveav Gl FmeveoLs @QBGHwL LSGMenauiesr allhsemevwmeargns L@ pmi.
iv. Gebev ysavL_av anldG Clumbureyd ‘QpPw LSHNasuller $Hems eTeTn)

@O LIL@®F .
SOUTBF6IT :
A) i, ii opmub iii o Bb B) ii opmyh iii o b
C) i, i Lopmyth iV oL” BILb D) GuwGev 2 siter ojemeridaiLb
3. Wereu@pd Ceomg safley 618 FMwnsls QUTmESIS DS 2
i. CamYwev SmiLiev - ‘Feps @UILIBSLD
ii. wsHewy FLL LD - amig) F0lgeraileh Gev
iii. gdeir somdanv emGFm - ‘® anmes @ umyg’
V. anrestGam FLbLIGILD — & WQUTGT DI
A) i @b B) i ommyib iv C) iii (b D) i opmyib iii

4. 19650u@HLD FPMIFeTeV 6TEH SOUDTCEIS] 2

a. @QpFuraled CuMLir ST el YLoOLBSPW (LpS6d LOTBIGVLD [BIHTVMHS

b. 2023, Qe Crruey s QuppaIisEbssTeT HbSSLILIL L Lifladg CsTens
13 LAlevedlwest avalfiy ey FgeevHer 9@ Lb.

C. gnayl" Mw aISwresT LygavsTT 616G @QBFWTalled o 6iter a9eh@hTeslsemar
OseargalliLgnsns B PSLILIBSSLILILC L @b LDWw al(bd 24 ELD.

d. 9eav®Grellw e @Lium 500 G’ hess st Gum’iquiled @BFwmaller eTderen
Lgesstmis @oess_mb @)L_SewsLi L9y S

A) elsens b wpmib C seupresigy, a womtb d Y Fweoear Fil

B) winlsews a, b, ¢ seupnengy, d &

C) wseaws b wompib d sepresg, a wphmib C Fif

D) wsens b geuprengy, a, ¢, d yFweneu Fif

5. Qeutiuflenev semewGearp LPOIL LIGTOUBLD YPISSH TS & 6u6s L BISG6T.

1. Qeutiuflenev sevGLpTeg) (Q)eT0laUTFel), LONEIL 6T @)(hSGHLD TFHLI(BSS
SDGT Fldh% E6UsGLD.

2. Gautipleoew sewedrp ClLINFeUTS YeOoGWITeT FIDMIL 6T Falg s GlEefleume
@oeysafley eIpLI(BILD.

3. Gopis 2 wisgi 61 @LILIRLCLTE 4B 2 wisGed OeuliLiBlancy FamevdLp
@afliF@wmest OeuLiLBledevenw eIHL(BHSHIF DS

CLopEenTL_ dmpDmiFafled 615 FMwmTess] ?

A) 1 wpmib 2 " BHCLo B) 2 wpmib 3 o HCGwo

C) 1 wopmib 3 " BGw D) 1,2 wpmib 3



127/24 - T

6. Arrange the following districts based on population in descending order based on

the 2011 census.

1. Thiruvananthapuram 2. Thrissur

3. Malappuram 4. Ernakulam
Which one of the following is the correct order ?

A) Malappuram, Thiruvananthapuram, Ernakulam, Thrissur

B) Malappuram, Ernakulam, Thiruvananthapuram, Thrissur

C) Malappuram, Thiruvananthapuram, Thrissur, Ernakulam

D) Malappuram, Thrissur, Ernakulam, Thiruvananthapuram

7. Consider the following statements.
Statement | : The Deccan Plateau is primarily composed of metamorphised rocks.

Statement Il : The Deccan Plateau was formed due to volcanic activity during the
Cretaceous period.

Which one of the following is correct in respect of the above statements ?

A) Both Statement | and Statement Il are correct and Statement Il is the correct
explanation for Statement |

B) Both Statement | and Statement Il are correct and Statement Il is not the correct
explanation for Statement |

C) Statement | is correct but Statement Il is incorrect
D) Statement | is incorrect but Statement Il is correct
8. The Mackenzie River recently captured worldwide interest as the newest victim

of global warming as the river water reached a historic low level due to rising
temperature and lower precipitation. Identify the country in which Mackenzie River

is situated.
A) United States of America B) Mexico
C) Dominican Republic D) Canada

9. Match the following.
a. People’s Plan i. Jawaharlal Nehru
b. Bombay Plan ii. Shriman Narain
c. Gandhian Plan iii. M. N. Roy
d. National Planning Committee iv. J. R.D. Tata
A) a-—i, b —iii, c—iv, d-—ii
B) a—ii, b-i, c—ii, d-iv
C) a—iii, b-iv, c—ii, d-i
D) a-iv, b—ii, c¢-i, d —iii

10. Among the following, which indirect tax is not subsumed in GST ?
A) Customs Duty B) Excise Duty
C) Value Added Tax D) Luxury Tax
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Which of the following statements is/are correct with respect to The New Agricultural
Strategy (NAS) ?

A) Abandoned institutional reforms as a means to foster growth and as an instrument
for social justice.

B) Favoured a singular emphasis on a technology led process of growth supported
by price incentives.

C) The growth first option necessitated sub strategy for aiming at reducing the poverty
in the economy.

D) All the above

SATH-E is a project

A) To bring individual behaviours at the forefront of the global climate action narrative
B) Of Sustainable Action for Transforming Human Capital Education

C) Aiming at zero pollution mobility

D) Providing one-stop destination for all information on electric vehicles

The Kerala Administrative Tribunal was established in exercise of the powers
conferred by

A) Sub Section (2) of Section 4 of the Administrative Tribunals Act, 1985
B) Sub Section (2) of Section 4 of the Administrative Tribunals Act, 1975
C) Sub Section (6) of Section 2 of the Administrative Tribunals Act,1985
D) Sub Section (2) of Section 4 of the Administrative Tribunals Act, 1989

Which of the following districts in Kerala were included in the first phase of
implementation of the Mahatma Gandhi National Rural Employment Guarantee
Scheme ?

A) Malappuram and Kozhikode B) Idukki and Kottayam
C) Wayanad and Palakkad D) Kannur and Kasargod

Which of the following statement is incorrect about Akshaya Project in Kerala ?
A) Akshaya Project was launched to impart e-literacy in the State.

B) Akshaya Project focuses on better citizen-administration partnership through improved
service delivery.

C) Akshaya Project was first launched in Malappuram district.
D) The pilot implementation was in 2003.

Identify the Proclamation that has been hailed as the ‘Magna Carta’ of the Travancore ryots.
A) Jenmi Proclamation of 1042 (1867)

B) Jenmi and Kudiyan Regulation of 1071 (1895-96)

C) Pattom Proclamation of 1040 (1865)

D) Settlement Proclamation of 1080 (1904-1905)
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17. The official duties of the Kerala State Planning Board are performed by eight important
divisions. Identify the one that is not part of these divisions.

A) Plan Co-ordination Division B) Social Service Division
C) Perspective Planning Division D) Centralised Planning Division

18. Recently, Kerala declared man-animal conflict as a State-Specific Disaster. Consider
the following statements in respect of State-Specific Disaster. Which of the following
statements is/are correct ?

1. Coastal Erosion is a State-Specific Disaster in Kerala.

2. About 40 percent of the funds available under the State Disaster Response Fund
(SDRF) can be used for providing immediate relief to the victims.

3. The State Disaster Management Authority (SDMA) can take actions overriding
other norms, including those under the Wildlife Protection Act.

A) 1 only B) Both 1 and 2

C) 1,2and 3 D) Both 1 and 3
19. Pellagra is a disease caused by deficiency of

A) Ascorbic acid B) Riboflavin

C) Thiamine D) Niacin
20. Which among the following is not an indicator of health ?

A) Morbidity indicators B) Marital indicators

C) Health policy indicators D) Health care delivery indicators
21. Total number of bones in an adult human body is

A) 226 B) 216 C) 260 D) 206
22. Which among the following is not a fat soluble vitamin ?

A) Vitamin C B) Vitamin E C) Vitamin D D) Vitamin A
23. Which is the causative organism of Filariasis ?

A) Plasmodium Vivax B) Wuchereria Bancrofti

C) Yersinia Pestis D) Bordetella Pertussis

24. Which among the following is not true as recommended dietary modification for
preventing Coronary Heart Disease ?

A) Reducing salt intake to 10 gram daily

B) Limit the consumption of saturated fat less than 10% of total energy intake
C) Anincrease in complex carbohydrate consumption

D) Reducing fat intake of 20-30 percent of total intake

25. World Health Day theme for the year 2024 is

A) Building a fairer, healthier world

B) Our Planet Our Health

C) My Health My Right

D) Universal Health Coverage; everyone everywhere
A -8-
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The price of a commodity increased by 25% in the year 2000, increased by 40% in
the year 2001 and decreased by 30% in the year 2002. If the price of the commodity
at the beginning of 2003 was 980, what was the price of it at the beginning of 2000 ?

A) 980 B) 800 C) 880 D) 900

Mr. X and Mr. Y started a business by investing annually an amount of Rs. 2,50,000
and Rs. 5,00,000 respectively. After one year, Mr. X additionally invested
Rs. 2,50,000 in the business; meanwhile, Mr. Y withdrew an amount of Rs. 1,00,000
from the business. At the end of two years, if the total profit was Rs. 6,60,000, then
the profit of each is

A) Rs. 3,00,000 each
B) Rs. 3,60,000 each
C) Rs. 3,00,000 for Mr. X and Rs. 3,60,000 for Mr. Y
D) Rs. 3,60,000 for Mr. X and Rs. 3,00,000 for Mr. Y

In a Marathon race of 50 km, an athlete runs at a speed of 5 km/hr for the first
20 km, then at a speed of 7 km/hr for the next 14 km and at a speed of 8 km/hr for
the last 16 km. What is the average speed of the athlete ?

A) 7.5 km/hr B) 6 km/hr C) 6.52 km/hr D) 6.25 km/hr

Two vehicles moving in the same direction at 64 km/hr and 46 km/hr completely
pass one another in 2 minutes. If the length of the first vehicle is 150 m, then the
length of the second vehicle is

A) 450 m B) 400 m C) 600 m D) 650 m

A water tank in the shape of a bucket has 50 cm diameter at the top and 32 cm
diameter at the bottom. What is the capacity of the water tank in litres if it is 42 cm
high ? (Use &t = 22/7)

A) 56 litres B) 56.364 litres C) 57.264 litres D) 57 litres

In some languages, KERALA is denoted by OIVEPE, then in the same language,
how is ORISSA denoted ?

A) SVWMME B) RVMWWE C) SVMWWE D) RVWMME

The next term of the sequence 14, 34, 133, 352,
A) 729 B) 739 C) 1331 D) 1341

During a family function, a lady points towards a man and says, “My mother is the
only daughter of his mother”. What is the relation of the lady to that man ?

A) Niece B) Nephew C) Sister D) Wife

M, N, O are 3 towns in a city. If N is 20 km to the east of M and O is 15 km to the
south of M, then the distance between N and O is

A) 35 km B) 25 km C) 15km D) 20 km
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@p Glumrmeier alenew 2000 9yib 9y ey ov 25% 9B s MSs81, 2001, 9ytb oy evsLg 6D
40% B sM3a5 2002 g4b yewiged 30% Goppgierers. 2003 gyb gy 6L 6o
CsrL_sa55e CummL sefler allenev 980 s QpHsTew, 2000 ib 9y 6vTLg 65T
CBTL_85535 60 9F6T allenev 6166 9

A) 980 B) 800 C) 880 D) 900

Mr. X wpmib Mr. Y &Curi ger®Csinib wpeopGuw ep. 2,50,000 wwpmib
e. 5,00,000 wpselliyed eueamllassams yablisseri. @@ aBLSHDGL LD,
Mr. X s@sevrs ep. 2,50,000 cuenlisg@ed wpsed® OlFuismi; @anHenr_uied, Mr. Y
aenflsd 5 e bpba er.1,00,000 Osrensenw FpLouls Quppmi. @uessi(h auBL (LpLyailed
Oorgs ewmuib ep. 6,60,000 erarfled gpaviGleumpaullesr emLILD eTeiTasToUTS @) (Hd @ LD.

A) sevr ep. 3,00,000

B) sevr ep. 3,60,000

C) Mr. X em. 3,00,000 Mr. Y en. 3,60,000

D) Mr. X ep. 3,60,000 Mr. Y ¢5. 3,00,000

50 @CemL L it omgdsmest LpSwSF e, @b SLsar afgi psev 20 HCevmbL L_eog
wensflé@ 5 &.18./wenfl CousdSaib, HYBSS 14 HCembi ey 7 %.L5./1oewd]
CoussFayitb, s G 16 FCowmifi' L eog 8 &).15./wewfl CoussHevitb eBE D

aflewarwim_ (B afgmer Fgnad Ceuslb ereiter ?

A) 7.5 8.18./wesfl  B) 6 &..8./wenfl  C) 6.52 &.18./wewf] D) 6.25 H).18. /16w

64 %..6./wenfl wHpib 46 §).15./1wewfl CousgGed Gy HensFulleh GlFevayiLd () Tetsr(p
UMEHGIBISET 2 [BILOL_misafleh eetitenmCwmesiny pHPleVb SL_bg CFOFGIDET. (LpF6L
unsarsget Hardb 150 15 eresfled, @Q)uedTL_maus eurseTs et Harib

A) 450 5 B) 400 5 C) 600 5 D) 650 5
umafludest euigadled o eiter qp sevwrewsti Gl g GoGev 50 Q&.15. @l L b opmiLb
GG 32 GF.15. @il L 1D 2 ewL_wig). 95 42 O)F.15. 2 wgLh Q)(FHST6D, ST evsTewt T
Qg g uilesr Glamerarare) 0L L Mev erestesr 2 (T = 22/7)

A) 56 S it B) 56.364 a9 i C) 57.264 &S i D) 57 O i

Fev mflsafecv, KERALA ereirig OIVEPE, ereimy @Al Ltiu®@mal, etesfled
<2Cs Gompluiesb ORISSA ereirigy 61198 GDSSLILIGE DS 2

A) SVWMME B) RVMWWE C) SVMWWE D) RVWMME
14, 34, 133, 352, @Bs auflens 9BHSF eTeRT 6TeHTes ?
A) 729 B) 739 C) 1331 D) 1341

R G@L aflprailer Cungl, @ Ouesioest @b yement CrrEE), “eTesT SyLbiom
ULt Lbiomadlest @G LoFeT 61eTmI FnMIBWITT. bS5 CILIGHT bS 2YeIs5E
GTGIGST FLDLIBGLD ?

A) o@Loser B) w@pLosaeir C) #CGsnsi D) wewesal)

M, N, O o@wevear qp pHISHv 2 6itar 3 paaBIGe6T 9 @&Lb. M & HipdGs N 20 &).15.
womtb M &g 0snGs O 15 &.18. ereiipred, N wpmyib O $@& @ewL_ulevrest HrgLb
A) 35 g..5. B) 25 &..5. C) 15 @..6. D) 20 &..5.
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35. A, B and C are 3 Institutions in a locality. Bell rings every 45 minutes in Institution A,
every 1 hour in Institution B and every 2 hours in Institution C. If the first bell rang
at 9.00 am in all three Institutions, then at what time will they all ring together ?

A) 2.00 pm B) 2.30 pm C) 3.00 pm D) 3.30 pm

36. Which of the following statements is/are true with respect to the offence of Cheating

under Section 420 of IPC ?

A) The term ‘Property’ under S. 420 does not necessarily mean that the thing, which
delivery is dishonestly desired by the person who cheats must have a money value
or a market value in the hand of the person cheated.

B) If the property becomes a thing of value in the hands of a person who may get
possession of it as a result of cheating, it would fall within the connotation of the
term Property under S. 420.

C) Assessment order under the Income Tax Act is a Valuable security and hence
Property under S. 420 of IPC.

D) All the above

37. Xthreatens Z that he will keep Z’s child in wrongful confinement, unless Z will sign
and deliver to X, a promissory note binding Z to pay certain amount to X. Z signed
the document and delivered it to X. The document was kept on the table by X. It was

taken by M without consent but as a loyal servant. Which of the following statements
is/are true in this context ?

A) X committed the offence of Extortion
B) X committed the offence of Theft

C) M committed the offence of Theft

D) No offence is committed by X or M

38. Which of the following statements is/are true with respect to the expression ‘soon
before death’ used under S. 304 B of IPC ?

A) It indicates a fixed period.

B) Itis left to be determined by court based on facts and circumstances of each case.

C) It denotes the existence of proximate and live link between effect of cruelty based
on dowry demand and the death.

D) Both B) and C)

39. A girl below 16 years of age, who was an inmate of Ashram School was called by
the Manager of the School to do household chores while his wife was in hospital. He
induced her to have sexual intercourse even though she resisted by verbally saying
no to do the act. He blackmailed her not to tell anyone about this incident or else

he would fail her in the exams. Offence under which Section of IPC is committed by
the Manager of the School ?

A) Section 376 B B) Section 376 C C) Section 376 D D) Section 377

-12-
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A, B opmib C y@wever e aul’ L mis&Hev 2 6itar 3 HlmieuestBISer 9y @Lb. blmjeuesLb
A @eb 45 BlOlL_misens@ @b (Lpepuib, Flmeuatd B @6 1 wenflCrissn@ b
wapuib, Blpjuears C @6 2 wallCrrsSneE emu@puh Gl 3y sEDS.
eLpestmy Bimieuestiisafieyb sremev 9.00 Loewfld @ (LpF6v Loewt]! 919 S5m0, 61hs CnIdS e
DTGB YILD QRGTDTH LOGwT Ly SSLILI(HILD 2

A) 2.00 pm B) 2.30 pm C) 3.00 pm D) 3.30 pm

L9May 420 IPC Q)67 GLp eronpmitb @ppsensLs QLmmisseuenr L6sTeuLb pldbenasaict

61 Fifl/Filwimesg) ?

A) S. 4206 &1p 2 eitar ‘ClFTSG) 616D UMTSNSWITERIS], TLOMTHMILIUTTED CHiewLowmHm
wpeopuied aN oLl i®b QumpeT, eromdriLl L BLMGT eFufed LIGwT LS
VG Fhews LFLIL )hdbs Ceuer(hLb 6TeIm 2idFLO6V6.

B) Gy OQsuissest allenareuns ClFmsg eheulest assalleh oGS5 Mw GLimperts
omplestmed, 45 S. 420 Q)etr GLp ClFTSg) 6Tettn aUMidengulles (Q)enentoyd@er & al(bLb.

C) eu@Lomest aufld 1 1_GFer HLp OB (B) YewewT (B LOGILILLOSS
ungsmliunesg, etaiGeu GlFmsg S. 420 IPC Q)er &p auFma).

D) GuwGev 2 6itar ojemeridgiLb

X &@ GO L Ostevsamw CFess Coua(hb 6Teip 2 niF 6oL oy euewnTsEe)
Z sCwriindi B X &@ eupsisraill L mev, Z Q)6 Gppeansanit sL_g5 al® Couetr
eresryy X gl ®@pai. Z yeuewis@ed esQurlibr ® X $@ Csthssi,
b5 Y euewitd CeFuiler X 96 eeaudsliul L g. @eng M e1eiip alFeumrsiomest
Couenevdamget, LIS @)evaToed eT(RSSHIAN L Mi. @bsF Fpedled LleTeuhLb
FPMIFeTeL 618 Fifl/FMwmes) ?

A) X gL’ 1y Liewith LIPS GPoSmsd CFUISTT

B) X 3L 03 @ppseamsd CFdismt

C) M @B Bs @ppsass ClFdismi

D) X wevevg M gpev 61685 @mmLpLd ClFuiwiLiL_ adevencv

IPC @air S. 304 B Q)eir S1p Lwes®ssLinmn @wriusma@ wpesr (soon before death)

e1631p GlFmmOwm_eogl1 QunniSSaueny LIeTaIhLD Fapmisailey 618 FM/FMwneig 2

A) Qg1 @@ Bloewnear STvsamss &nlsHns

B) @41 gaibleuny aups&ler 2 awenioser HmILD @pBHlenevsailesr 2y LiLienL_uied
NG Y U A I G AN O]

C) ougsL gewents Camidensuie g LiLienL_ulevrest Gl&m(RenLouller alenaredE@Lb
wgetsSn@L Qe Cw CBBESw wonpib Cruy @)eentliL) @)@BLILIDSS
GOSEDS!.

D) B) wmmib C) @uesr(pib

gapgb veteflullesr $mSuNBSGHD 16 euwgydSGLrul L gy Fpd), verefules
Groemargmed gyeuis| Loenerall Lo(hggiaueaTuiey @)wbhs0LTE afl” B Coumesenars
O yeLpSsLiLL L mi. pss OlFwenevd ClFuiw Geuesst_mib e16stry eumitG)omlwiras
Claravas) 66T 61%)185CLINGILD DG YIGT 2 L_IDa] ClHT6TeTS FI6ssTLY GOTTGT.
Q@bs Fuadeans wrdl(pd QFrevev Geuewrmib, @evemeCwefley Ggialley
Camevadl 9ewL_wiblawis al®)Cever ereor Oy g wjerermi. IPC uier erhsls el
G1p uerefuiesr Goevmargmed GnpLb OFiuliLB®S DS ?

A) 9fley 376 B B) 9May 376 C C) ey 376 D D) ey 377
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40. Which of the following statements is false with respect to private defence ?

41.

42.

43.

44.

45.

A) There is no right of private defence in cases in which there is time to have
recourse to protection of the public authorities.

B) Right of private defence does not extend to inflicting of more harm than it is
necessary to inflict for the purpose of defence.

C) Law recognizes certain acts against which there is no right of private defence.

D) Right of private defence does not extend to causing death.

Judicial proceedings under Criminal Procedure Code envisages

A) All proceedings other than a trial, conducted under the Code by a Magistrate or
Court.

B) All proceedings in the course of which evidence is or may be legally taken on oath.

C) All proceedings under the Code for the collection of evidence conducted by a Police
Officer or by any person who is authorized by a Magistrate.
D) All the above

Which of the following is/are the right/s of an arrested person ?
A) Right to counsel of his choice during interrogation

B) Right to be made aware of his right to have someone informed of his arrest or
detention as soon as he is put under arrest or is detained

C) Right to be subjected to medical examination by a trained doctor every 48 hours
during his detention in custody by a doctor on the panel of approved doctors
appointed by Director, Health Services

D) All the above
Which one is the acceptable mode of serving of summons as prescribed under
Section 64 of Cr.P.C., when person summoned cannot be found ?
A) Leaving one of the duplicates with some adult male member of his family residing
with him
B) Leaving one of the duplicates with the servant
C) Leaving one of the duplicates with the neighbourhood
D) Leaving the copy at the door step or affix at any conspicuous place of his
residence
Which provision under Cr.P.C. encompasses the concept of security for good
behavior or good behavior bond ?
A) Section 108 B) Section 109
C) Section 110 D) All the above
Which of the following is/are true with respect to recording of confession and
statements under Section 164 of Cr.P.C. ?
A) Audio-video recording of confessions and statement is impermissible.

B) Recording with the assistance of special educator or trainer is permissible in case
of any person on request.

C) Statements made by a disabled person with the assistance of special educator or
trainer must be videographed.

D) None of the above
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40. gellwmi ungsmrieoul Qummissaie L96TaI(HLD MG SHNGD 61%I SUDTCEE ?

41.

42.

43.

44.

45.

A) Cung xDsmiselesr LngsTreL B Couewhigw FHSILILIBISNe Sefllil L
UngISLIL 2 Menip (@)evenev.

B) sefliiuc L ungsmiiier o fewiowinesigl, LngISTLINDSTS apL(hSs Cauesiy wens
AL 955 $r5IG allwearalliLsTs @eveev.

C) saflwumt ungsiiiy o Mevw Qevevns Fev ClFwevsemar FL L b YBIGSNEH DI

D) seflumi Lngsmli) o MeLp 6TGTLIGI LDIGSISS 2 GRTL_MdhEGLD eUenT BL 19 SHLI
LIRS V6.

@DODNWG Bl _(LpenpUiest BLp BHSHIOM BL_aUL)SHSEHET GTGTLIHG

A) @@ wrKev i evevg FHOGTDSSTD FL L SH6T SLp pL_SSLILI(BILD
allFTgenentenwsd ST LODD OIS HL_61L)SeHESGBLD.

B) #n @uwions @ps@Lb devevg FLU L Liyiainons o piS 6o 61(hSsLILIBILD eSS
BL_@IL) HeDH%@HLD.

C) @ smeucvgieom 2H%Ti jcvava) LMdlav CuL’ L meb yBIGSNSSLILL L 615E6)eun(s
BUITeD BLGSLLGLD FTSwmisemer Casiliugpsrest F L SR SLp aTss)
BL_@IL) HeW%H%@HLD.

D) GuGev 2 direr yeneidg)Lb

LeraumeuaTeupmley ewag CFwiLl L pLMGT o MenLo&6r wiremer ?

A) alergevestullesr CLing) 9euri alpLoLd 3y CevrFenesidsrest 2 MenLo

B) wyeui ewsg CEFdiuliuc L eyl 6T 9vavg $BHSEH ®eUSSHLILIL Lol 6T, 3 al(h%E
Geuetorig w wrGueyib e@heuBsE QensLiLny sMald@Ld o Mevemwls LipHp)
D& O\ FMeiT@HLD 2 MewLo

C) #anzsmy Crencuser Quid@Gergned Fwibdbslil L ym&sMabslil L o@dsialr
g@@ﬁ?@b 2 GITGT @(h LO(BSHIUTTE FHTeUcdled emeudbsLiLiL” (herareli 48Lo

BISHDSG6T Lo(hdGIeu LifIGCFTSmeTd:d 2 ' LIhSSLILIBUSDHTET 2 feoLp
D) GuwGev 2 sitar ojemeidaiLb
YPSSLILIL L BT saTBhLgds Lpgwaldamebwedlsy, Lifeay 64 Cr.P.C., @er

G1p LMBHIEHISBLILIL L FIDLOGTISENGT GULPBIGHUSDHTCT GIDMISOIBTTaTSInly W (LPeOD 615 ?

A) Bavsailed eTenD 9euBL T UFSHEGLD Yauggl &HLOUSHGT g aupbs Fev
94,6005 @B L6 Il (hF GClFevag)

B) psovsailed getenn Cousmevdsrrail_tb all B GClavaig

C) paevsalleh getenn ysHLbLISHSSHD ol HF C)Feveus

D) psee aunged Liguied ol HF OFaFe) QDVG eugsl uFILILIN &S 6
Osafleuner QL 50 L (HF6L

Cr.P.C. @it 81p 6165 aIpLIT(h) V6V BL FMF YeVVE BeV6V BL GG LNGHGRTLIL|SS TGS

LIMGIHTLIL| TG H(hSeMSH 2 GIToTL_&FH WG] ?

A) 9Mey 108 B) 9May 109

C) 9fey 110 D) GwlGev 2 e enesidgiLb

9fley 164 Cr.P.C. @6t 81p @Lilsed aund@epevd oPpmitd Blsensewls L% ey

Cladioug OsmL_ing LeTeaumaucTalnmcy 618 FMl/FMwiTeg 2

A) urdGepevriser wPmitb yPldassaiet gy Cuir-afy Cur LBy eyoSHSHLI
LIL 15

B) ewm @nliys sdallwrerni evevs LulnFwrerilesr o gally e LS ey6lauised
6165 6leumay BLfeT Casmideasullayb eQIbBSSLILIBHF DS

C) @wiiysd sevallwrert oevevd LUNHDAWTTHGT 2 SailujL 6T 2a1esT(LPPD BLIT GIHEIT
9efld@Ld ymlbaaser afig Cuimans e1hssLiLIL. Couesst(pLb.

D) GuwlGev eigieyib @)evemev
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46.

47.

48.

49.

50.

51.

An Act referred to in Section 43 of the Information Technology Act, 2000 would
constitute a computer-related offence, if it is committed

A) Dishonestly or fraudulently
B) Dishonestly or maliciously
C) Dishonestly or recklessly
D) Dishonestly or intentionally

As per the provisions of the Information Technology Act, 2000 the punishment for
identity theft is

A) Imprisonment up to 2 years and fine up to 1 lakh

B) Imprisonment up to 2 years and fine up to 2 lakhs

C) Imprisonment up to 3 years and fine up to 1 lakh

D) Imprisonment up to 3 years and fine up to 2 lakhs

Which of the following actions constitutes cyber terrorism, if it causes or is likely to
cause death, injuries or destruction of property ?

A) Denying or causing the denial of access to any authorized person

B) Sending unsolicited emails to a large group of people

C) Downloading copyrighted material without permission

D) Sharing false information on social media

What is the maximum punishment for a second or subsequent conviction under
Section 67A for publishing or transmitting sexually explicit material in electronic form ?
A) Imprisonment for up to five years and a fine of up to ten lakh rupees

B) Imprisonment for up to seven years and a fine of up to ten lakh rupees

C) Imprisonment for up to seven years and a fine of up to fifteen lakh rupees

D) Imprisonment for up to ten years and a fine of up to fifteen lakh rupees
Which of the following is not considered a part of the ‘computer source code’ as
defined in Section 65 of the Information Technology Act, 2000 ?

A) Program analysis of a computer resource

B) Computer hardware specifications

C) Computer commands used in a program

D) Design and layout of a computer resource
Who has the authority to reject a request for information, if it involves copyright
infringement ?

A) Only the Central Public Information Officer

B) Only the State Public Information Officer
C) Chief Public Information Officer

D) Both the Central and State Public Information Officers
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Saeued Cgmplevm Lig g1 1b, 2000 @eir LiMey 43 @eb @GMIIIL_L1Li” Beirar

QB35 @ OFwed sewflesd] CFmL_iLimeT GHOLOTS ()(HSEGLD

A) Grrienwupm evevg) GLomFLy wins

B) Criewwwpnw scvevsg SmiFenpd@Lb

C) Griewwowpm yevevg QUmmIiLIDD Lpemmuied

D) Griewwumnm 2jevevg Couest(®6)oeTGm

Saaueh OsmflevmL g 1 1b, 2000 Q)esr afl@saflesiLiry, el wmard B HL (b e

& GOSTL_GB)GBT

A) 2 gyeBser cuay Fenpdseni_evert oHmib 1 L Fib euedy yLITTSLD

B) 2 g anhser cueng HeopsSeiTL_enest oPpmILb 2 WL FLD eUT YLIFTSLD

C) 3 gy anr(hser aueng Heopsset_emet oPpmitb 1 WL FLb auenT QLIFTSLD

D) 3 w6 eueng FenmsSessL_enest LoPmiLh 2 L FLD UG LITTSLD

FLIT LIWBISTITSLD, DIGRILD, SMBISET Hebevg ClFTds gflenau emLihdFesmey
VWG TDLI(DSSIHIn G WSTEH Q)(BhSTeD, LiesTeuhLd ClFwevsaileh 618 enFLii
LIWBISTQUTSLONS IHLOF DS ?

A) oB&asMdsriu 1 e1hg0leur s pLeTujd CBIigwins SespIFene LoYILILIE eV

CongsLons LomILILIG)

B) @@ Cufu gupallermsd CsruliuiL_ng HETeTehFsenar 9eyLiL|He)

C) usliyden Clupm OumBL sever ey oS uley) LFaDssLd O)FuigeD

D) sops 2011_smisalch SauUpTeT $H0UCHSEGTLI LIF)TH60
6T L gmelld aulg @SB GlaualLiLieoL wimer LmeSlwch o 6rer_sssms OlaaiulBasnE
DGl eI eIsPG Lila) 67A Qe G1p @ueiL_aig) Isvewsl ABSSHSS
SCUTL_COGTSHETGS P FLILF FGETL_GOGST GTGITGHT 9
A) @b81 Y ETHS6ET U T FODISSHEHTL_OGST LOPMILD Lidd| UL FLD eHLIMTLI GUGHT HLITTSLD
B) I ABTHHET UHT FleOMSSETL_GHT LOPMILD LIS UL FLD eHLITLI QUEHT HLITTSLD
C) ap YFTRF6T auewT FeOpSSTL_w&sT LOHMILD LIHen&ThS UL FLD ehLITLI

UGN YLITTHLD

LS% YT(HHET UeHT FeODIHSERTL_ 6T LoHMILD LIS en&Thd| UL FLD eHLIMLI QUeHT
QILITASHLD

D)

Saaueh OsmflebmiL Lig #1°1_1b, 2000 @)eir LIfley 65 @)eb auampwmdsLILL BHerar ‘sewfles]
eLpevd @GOIUTL 1967 LIGDWTSS FBSLILIL TSS] 618
A) sewflesd] euenrdSler Hlocd LiGLILIMiIey
B) sewflesl] euaOLimmenr adeuns@mlliLjser
C) aw Blredled LweTLBSSLILIBLD FHessterl] S L_ewarser
D) o seflaf] euend®ellhig eulgeuemiolis) opmitb Cevyea L
u@Liyfeon Lped FIbLBSLILIL L SHauadsner Casmisamasaw Blumsfss wirmsE
B ETILD 2 6iTeNTG] ?
A) wgPw Oung s PsmM o HGL
B) wihlev Qung ssaicv s wi” (B G
C) swawew Cung %60 HyBST
D) wg@w wpmitb wrblev Clung sseucd HyBsThS6T @)(HeuhLD
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52.

53.

54.

55.

56.

57.

As per Section 11 of the Right to Information Act, 2005 when must the Central or
State Public Information Officer notify a third party about the intended disclosure of
information ?

A) Immediately upon receiving the request

B) Within five days of receiving the request

C) Within seven days of receiving the request

D) Within ten days of receiving the request

Which clauses of Sub-Section (1) of Section 8 can limit the disclosure of information
that is twenty years old ?
A) Clauses (b), (d) and (f) B) Clauses (a), (c) and (i)
C) Clauses (e), (g) and (h) D) Clauses (a), (b) and (j)
Which one of the functionaries pledges to uphold the sovereignty and integrity of
India during their affirmation or Oath ?
A) President B) Vice-President C) Governor D) Chief Minister
Which of the following pair is correctly matched ?
Constituent Assembly Committee Chairman
A) Fundamental Rights Subcommittee Sardar Vallabhbhai Patel
B) Provincial Constitution Committee Jawaharlal Nehru
C) Steering Committee — Dr. Rajendra Prasad
D) Union Constitution Committee — J. B. Kripalani

Read the following statements.
Fundamental Rights and Directive Principles of State Policy are different with respect to
1. Fundamental Rights are affirmative in nature but Directive Principles are
prohibitive.
2. Unlike Fundamental Rights, people cannot take legal action, if the Government
fails to implement the Directive Principles.
3. Fundamental Rights aim to safeguard the weaker and more vulnerable sections
of society, whereas the Directive Principles of State Policy focus on protecting the
broader interests of individuals.
Which of the statements given above is correct ?
A) 1 B) 2 C) 3 D) None
Which one of the following statements is/are not correct ?

1. A writ of Habeas Corpus can be issued to secure the release of a person who has
been imprisoned by a court of law on a criminal charge.

2. A writ of Habeas Corpus lies or is issued against any person or authority who has
illegally detained or arrested the prisoner.

3. Where the person against whom the writ is issued or the person who is detained
is not within the jurisdiction of the court.

A) 1and 2 B) 2and 3 C) 1 only D) 2 only
-18-
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. Baeucd YPlujb 2 Mewiod 1”1 b, 2005 @eir Lfley 11 @6t Lig, WSPw ybevF)
wrblev Oungd ssaicw YFsTM e11CLING epesIDILD STLILNGTI(HSGHS FF 66V
GeualudBouens GClsMalss Cauesr(pLb ?

A) Csmisensemwrs Clupm o 1 CearGw

B) Gamfldemsenwis Qupm @bs B &ehdE 6T

C) Gamfldemsemwrs Cupw eIy BT % @5 6T

D) Gsmigensemwrs QUpD LSS BIL %@ @ 6T

. LMoy 8 Qer gyewewiitifay (1) @6t 6165 o L 19feyHeir @QBLIGI auBL_BI%6iT
ULpeLOWTesT SHaucvsenar OleuallullBleuens &L HLILI(BSSTLD ?

A) 2 1 19feyser (b), (d) ommiid (f) B) o " 19Meysaer (@), (C) opmuib (i)

C) o liffloysen (€), (9) opmiid (h) D) o ifileysar (a), (b) wpmieh (j)

. 2 B 06Im) yevevg 2 P 6wmflullesr CLing @)Bb&wrallesr @)emmuwimesienio LoHMILD
RELLIUT L HavewBlnds 2 n&06wmy) 1@ Liuaisefled eeur wmi?

A) oam®uB) B) siewewts; sewevaui C) seuriesi D) wpsevenodai
. Comgsaelley e1gy FMwnsls QuTpsEF DS 2
QTP FliewTs @ (Lp BEOVGUIT
A) 9L o Meniser gevewtd@Lp —  FiGMT euevemil LIGL b
B) wrsrewst yrflwevenioliny &p - @eaniwrey Gr(p
C) awfipL_ 560 &Lp — s gnCwb@r LyFns
D) weflwesr pFweveniorir) @wp - J. B. @@uevnesd)

. LITeU(BLD MG FFEGTLI LI SHE@LD.

Qg Liten 2 Menoser wpmitb auflsr BHised Caml Lmbser aFlevd )& meTensdser

@aupenprs QOummsg CeupiLil L eoal.

1. 9 tiuen o Meniosger Quipensuiled o PFwmeTenal YeTred aulPHTL (hF6v
OF 16T HH6T HevL_GlFuiujib.

2. 9y liuem_ o fenosearts Cumetn), i% 2 ssI6db CHTLLIT(HEHEET 9LDGY
LBSSS SUDBRTTGD, LOSFET FL L BL QUL EeE 6T(hEd (LPLYUITS.

3. 9L 2 MenLoEeir FeLpsdF 6T LicvaTestLoneet LopmyLh LOG&LD LITHGHLILIL ddaly Ll
LIMeysenarts LIngsTliLes Crrésonsd Glanmupereret, CsFiouih oMBlevd
Osrerensulles auflsT RFd CHTL LTRF6T FSeflbLisafles LThs BTSN
LITGISTLILFG) Seuesitd 0)FeIda) % Goim e

Gl CsTRSSLILIL L SImpmIsaiey 61% FMwmeig) o

A) 1 B) 2 C) 3 D) @évemev

. LeTeupLd 61h& Fapmi Filuflevemev ?

1. Gfdestev @GpwdFmiyer Cufled FFiocInsGsTer FHevpulled oo dHLILIL (HeiTar
ey al®alldss Captfwev smivev ML KDL9GsLL1L evTLD.

2. Cawwev smiuev AL, es@erw s 1 alCrmsons &bsH ®eudH) (HdbELD
VWG %G CFUIF 61HS0UTIH BLI(HSGLD HYVeVE DSTISHDGLD 6TH IM%H
o1 9S&LLL (HeiTeng).

3. wrs@ e@urs ML o isstiu®GEnCasr vevs FHSH ®eusbsLiLiL (heTer
BUGHT, FHLSTDSD 6T B FTT uFLbLIDG6ET Q)ebenaev.

A) 1 wpmib 2 B) 2 wpmib 3 C) 1w @i D) 2 i (b
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58.

59.

60.

61.

62.

63.

Which Constitutional Amendment in India introduced the provision for establishing
Tribunals within the Indian Constitution ?

A) 44" Amendment B) 42" Amendment
C) 24" Amendment D) 17" Amendment

National Commission for Minorities is
1. A statutory body under the Ministry of Minority Affairs.
2. The members of the commission are nominated by Central Government and their
selection is not restricted to minority community.
3. Union Government constituted National Commission for Minorities, New Delhi and
State Government constituted State Minorities Commissions in their respective State

capitals.
Which of the above statements is/are not correct ?
A) Only 1 B) Only 2
C) Both1and 2 D) Neither 1 nor 2

Consider the following statements in respect of financial emergency under Article 360
of the Indian Constitution.

1. The Constitution prescribes a maximum period of three years for revoking of
financial emergency.

2. There is no need for the approval of the Parliament for the revocation of the
proclamation.

3. Financial emergency has never been imposed in India until the present.
How many of the above statements is/are not correct ?

A) Only 1 B) Only 2

C) All three D) None

Which one of the following is an attack where the attacker pretends to be a trusted
entity and gains unauthorized access to a system ?

A) DDoS attack B) IP Spoofing
C) Ransomware attack D) Brute Force attack

Which one of the following techniques enhance the network security by keeping the
internal communication isolated from external networks ?

A) Static IP addresses B) Domain Name System
C) Private IP addresses D) Address Resolution Protocol

Which of the following specifies a ‘Potential Digital Evidence’ ?

A) The data stored or transmitted in digital form which is verified and can be used
to support or disprove a claim/fact in an investigation.

B) The data which is stored or transmitted in digital form which is verified and having
very high relevance in an investigation.

C) The data about digital evidence’s origin, creation and modification.

D) Any digital data that might be relevant to an investigation but not yet been
authenticated or verified for its integrity, authenticity.
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@BSH W S TFwevenoIID @6 SiiLmuBISear e aisnasTer allGenw @)bF wmaled
6Th% YTFWeELOLIL] S (hSHLD HYB(LpSHLILIBDSH WS 9

A) 44 o1z BGSs1b B) 42 aug Hwdsid

C) 24 augs Hmdsid D) 17 eug1 Hdsib

Fmiinesten ouflerpdbsnet CHFw 2 e»ewTILILD

1. @muneitenid afleusmy eoivdF55F 65T GLp 6 FL L _LILYT6U ewLDLIL].

2. g eTSSH 6T 2 mLIesTiseT LS HYIFT6 LifbgIe»IbSLILIGB DTS LoHmILD
9jeuisaner Gxiey Fmunetenis FeLpssSPnH@ L (hLb Ijcvev.

3. wsHw yga FpuneenouiesiBdsres CEFw gyementwitd, Lg% OL_cv6S) LoHMILD
Lomblev I LoABley FmLITeTen LoUlGSTT 60 eRTI BISEHET 9bSbE LOMHGV
SECBFIEIFND LSS F].

GoGov 2 6T dmpmisafied 618 FMuflevenev ?

A) 1 o1 @b B) 2 it @ib

C) 1 wpmyb 2 @uever(hLb D) 1 yevevgy 2 @)evemev

QB w rPweveniorifesr 360 eug Lfalsr Gip FP seusghlency Cl&mL_iLiTs
LIGTUBLD WS HEFEGTS F6GH | BIHGIT.

1. 5% 9eusgplevevew S Lol QLmIeuSHF APSLL FLOMS CLPGITD] 60T (DS 6T
BTV YQUFTFS®S HTFWEHLOLIL] LINGSIDTSEF DS

2. rsL_aigess B bt QOLmIaISH@ BT TE@HLOGTDSDGT GLILIF6
G emaiuilevenev.

3. @QBFHwraled @Qgaueng F% yeauFghlenew alFssLILL L GHevenev.

CLopEHesTL_ FDmisaileh 615F6T FAWLTGTIED 606V 9

A) 1 o @b B) 2 w1 (b

C) epeitmyib D) @sevemev

L9661 (B eUGSTOUD M) BT @ LIGIT SGOTENGST BLOLISLOTET DYGHLOLILITSHS HTL LY, HLDLIL|H S,
YBIGSMNEHLILIL_TH eisemels QUMD SM1dHGHSD 615 ?

A) DDoS sré@sad B) IP avjoiiim

C) grestabCeuri Hmd@Hs e D) denL o%Cumiav &rd@sev
LesroupLd Bl LBISaiey 618 2 6 Glsm_iysemar Gleuallliyp C)bL Gleumidsaied bhg
SlenoLIL(HSSIuBeHT epevld CpL GCleumid LngsmlieoL GolbLi(Rd&IS DS ?

A) avC" 198 IP wpsaufser B) @_newipest Quiwii jeminLiny

C) WewgGoul” IP wpsaudser D) wpseuf Gugeprapesr LyCym GL_memeh

Leraumeuasteupmley 61g ‘Gluml Gl _craflwed 9@ 1 6» 61allC)L_ciTa GTGTLIGNS

CLINEIOIE TR

A) 'L & eugeusBHed CFAGHLILIL L SV6VE eILILILILIL L FT6 FALIMTGSL
UL L g opmitd afFTgementuiey eh CHaMdbens /2 crenLoenil YHMbH YOS
Blen 958 LIGTLI(H S DS).

B) wgadl i 6b g ausFe CHildsLiiBIb 6o eI ILILIBILD ST, FMNLMTGSLILIL L )
Pmitb allFmgeneTulley LHSa b O)LIM(BSSLOTECEIS].

C) ygi 1 e gnesipisaflesr Csmpmib, 2 (heumrsEsLb LoPHMILD LOAHOLD LIDBILI ST6.

D) alenpewensis@ CSML_ e wWHTS Q)(HdHEGLD YaTTEV HBGHT QRHELOLILIT(H),
BLOLISSSHILDESHTS (Q)6HTeiLD HYBIBGHMSSLILIL TH YOS FALITISHLILIL TS
yefllLad sray.
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64. The computer network of a large company has been compromised by a ransomware
attack. The attacker has encrypted critical files across multiple servers and
workstations. They demanded a ransom payment in exchange for the decryption
key. Among the following actions initiated by the company’s IT Security Wing, pick
the one which cannot be treated as live forensics action.

A) Recording active network connections and open ports

B) Captures the contents of the system’s RAM

C) Analysis of network traffic data to identify any ongoing data exfiltration

D) Create a bit-by-bit copy of the entire storage medium, such as a hard drive or SSD

65. Among the following biometrics, which one is the most reliable ?
A) lris B) DNA C) Gait D) Fingerprint

66. Which of the following is a method for ensuring the authenticity of an email sender ?
A) Digital Signature
B) Antivirus Software
C) Domain Name System Security Extensions
D) Email Filtering

67. Which type of metadata is most critical in establishing the authenticity of digital
evidence in cloud storage ?

A) File extension

B) Geolocation data

C) Creation and modification timestamps
D) File size

68. In which of the following types of cyber crimes, CDR analysis is most useful ?
A) Phishing Attacks
B) Online fraud conducted through phone communications
C) DDoS attacks
D) Malware attacks through email

69. IPDR analysis is used for
A) Network performance monitoring
B) Identifying unauthorized network access or abnormal usage patterns
C) Network traffic monitoring
D) All of the above

70. If aperson’s phone is lost, it is being used by another person with a new sim. Which
number is more useful to identify the phone ?

A) 12 digit IMEI number B) 12 digit IMSI number
C) 15 digit IMEI number D) 15 digit IMSI number
71. Implicit Association Test (IAT) is a test of
A) Creativity B) Prejudice C) Memory D) Intelligence

A 29,
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64. grestFLbCeurt ré@sevmed gpp Ol BlmicuesTs® e sesstest) GbL" Oeumid SMLbLITeLOGV

65.

66.

67.

68.

69.

70.

71.

Qi Berarg). sré@GUet Lo CFeneuwsnsiser wpmitb LiewlBlenevwbisefed
wERwioner CasriiysmeargPOwndsib GClFdigererti. ©@MLiFeT G&@ FL TS
Qeuiser LB @b Gsrewsemw Casmieri. Blneuars@er T umgsmiyls 9femed
Osm_misliu’ L eraumd OFwevsalled, Cruy s wallwed FL_culgESWTs &b
s @atmps Csibo)s(Hé5a Lb.
A) dyer QL Ceunis @emewTLiLjser wHmID gLeT Cumil semer LGey OlFuised
B) sewflasfluiesr RAM @)1 2 _6irarL_dsmisenar ensLiLHmised
C) QB Qeumid L gm%Lid sueyselles LIGLILITLIG, BL g CSTTLY (HSEGHLD ST6
OouallCuPpIens 6oL WTTLD HTe59/%60
D) ammi® wyenger gevevg SSD Cumesip wpp Colling ser 585G 6 LI -amis-19
BBV 2_(1H6UTSH S
eraupd LGuwmGl” Mgedlev, 618 LOSaLD BLDLISLDTGHS) ?
A) aflev B) DNA C) Gaui D) e»sCrevs
LONGHTGSTGHFD eILIL|LIIMGHT BLDLISSSGTeLOEIW 2 MiF) ClFUIUSDETET aULfl(LpedD 615/ ?
A) g1 & esGlwmiLIb
B) emeugev $®L1y GG Limmer
C) Gmemioest OLiwii Dyewioliny LMGISTLUIL B 19 L1L|H6T
D) wlestestepsed ey s (hpev (o%LNevL_rMm)
Foray CHALILIFSHD 1981 60 YSTIBIGNGT BLOLISSS6TenLoW BlDIa)alFed
615 uenswre Ol L mGL 1 L m s (LpSFwLpresig) ?
A) oveniLich 615600)L_ciTayesT
B) CwmGlevnGsayesr G i m
C) Grr pdPenrsenar o (haind@$Hse) LoHMILD LDIHMIS6D
D) Gsniiy oerey
Lesteupid evFuit @Gppiisefey, 615 COR L@liumiie thsa b Liwigyerearsrs Q) md@Lb ?
A) Yefld sr15@HS0%6m
B) GlsmenavGu&) Qsm_iyser epevib BLSSLILIBILD 2y 6TemevesT GLomFig
C) DDoS s1s@sevser
D) wewresepsev epevid Lomed Geurr Himd@Ee05 6T
IPDR u@liumiiey 613ps1sL LweTL(hs$sLL RS ns)
A) QL Qeumid ClFwWBDET H6vs%TessiLIL
B) @Bi&sMssii_ng GpL Ceunis 956 Yeevd YFTSTIHT LILIGTLITL (b
(LPEODEHEN QT FGUTL_ %6V
C) QL Geunis L gmosils sesssmessiiiLy
D) GuGev 2 sitar ojemerdaLb
@b puMeT CsreamalCud) Osrenebgialll L M6, & LS w Fbupr et LonHolmrds
BLUITeY LWSTLRSSLILGSDS. CleTerevCLFeww oL WAGTLD FHT6RT 6ThE GT6ET
LO&BeYLD LIWLIgY)IGTeNS TS5 (Q)(hd@GHLD ?

A) 12 @esés IMEI eretr B) 12 Qwss IMSI eressr

C) 15 Qwss IMEI eresr D) 15 @evds IMSI erevs

@urieffL yCsm@Cuwaper Gl_avr” (IAT) ereirug) @Qsparer CFngener

A) ueoL LiLmpmed B) wmgui gib C) plewareusid D) o ereysgiemm
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72.

73.

74.

75.

Find out the answer from the codes given below.
Load theory of attention holds the following assumptions.

I. High perceptual load reduces distraction effects in the visual modality.

Il. High perceptual load does not reduce distraction effects in the auditory modality.
lll. Effects of perceptual load and cognitive load are independent of each other.

IV. Perceptual and cognitive processes interact with each other and have no
separate effects on attention.

Codes :
A) Only lis correct B) I, llland IV are correct
C) II, llland IV are correct D) I and Il are correct

During which sub-stage of Piaget’s sensorimotor stage of cognitive development do
children use trial-and-error in solving problems ?

A) Secondary circular reactions
B) Mental combinations
C) Tertiary circular reactions
D) Co-ordination of secondary schemes
Find out the answer from the codes given below.
In Social phobia
I. Displacement, repression and symbolization are the major defense mechanisms
employed.
Il. Dopaminergic dysfunction is implicated.
[ll. Avoidance of sexual interaction can be improved through the use of Selective
Serotonin Re-uptake Inhibitors (SSRI).
IV. Monoamine Oxidase Inhibitors (MAOQI) is an effective treatment when used in
conjunction with tyramine rich foods.

Codes :
A) I, Il and IIl are correct B) I, Il and IV are correct
C) l'and Il are correct D) Only lis correct

Given below are two statements, Assertion (A) and Reason (R). Choose your answer

from the codes given below.

(A) : Simple span tasks with very rapid presentation of items (running memory span)
correlate less with measures of complex cognition.

(R) : Any working memory task that prevents well-learned maintenance strategies
serve as a good predictor of complex cognition.

Codes :

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

C) (A) is true, but (R) is false

) (R

D) (A) is false, but (R) is true
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GG OsrhssLiLL Rerer @Gpluibhsealcy @) bbs aleoL_emiid e Pliia b,
SIS B 6T Hemo G Lim®) LN6TeubhLd HeILOTGTEIS TS OHTessT(H6TeNg) .
l. 9Bs Leveyentioy HeoLownes], STUF (LpeDenLoulled FeUTFRSD aIeH T b6 6T
SODSF DG
Il. <Bs Levenyeniiay Hemowmes OFaILiLjev LHeHDELDUNC) H6UaTFFSD6L
AT BT (&HODEHBTE].
. Lyeveyyewtiay &enio wHDILD YPlaTHD6d Feoio YFWaiHPleT allenareser
RHUHE OIS THGUT FWTSGILOTE 2 GITGTGH.
V. yevegiewtiiey opmith pleunpmed QFwebpenpaser geiimidolsresiny Gl m iy
OsrerGeipert, Goayb HeuaTgFev sesfldsell allenareser ()evemov.
&DuF B SHa
A) | o Bb Fif B) I, ll opmyib IV siwimesrsy
C) I, I opmyid IV sRwimesigy D) | wopmyib Il slwimesig
LwrQerL” 19 631 2 eI DT UTTFRUNGT 615S Sicwest Hlavevullesr CLiTgG FEFH0FH®ETS
SmILged GLpbagser Crrgenet LoHMILD LenLpeniils LILIGTLI(HSSI% G5 Tm 6ot
A) @ueLmib Flewev eul’ L 61%)TalleneTser
B) wer Corigensser
C) epetipaid plevev aul’ L 61D ialeneaser
D) @ueswrL_mib Blewev HL_misefer 65mIFeERTLIL]
GG ClarRssLiLL Betar @GpuiGSeleSBhg LFmevd HevTL_PliayLb.
FoLPF LILSF6V
l. @LiOuwie), L sEupedn wPDId e wraTliL(bhdsed YFH el LpSEHIw
LMgISILIL ILP(LpeODSHET.
Il. CLmfOestigdls GlFwaedlipLiy FbLpSLILIL L F).
. Qeevdiger QOFCrnGLnesflesr F-yiGL & @esrani L iev (SSRI) Lwe®ggiaugetr
eLpevLh LimeSlwed Gempum e GLolbLi(RSSLILIL VLD,
IV. GonGerrsyenioest sHCL_ov @eranlli L e (MAOI) 616s1LIgy eoL_genLoest Blewmbs
2 GWTeYH@HL_6T (Q)ewensthg LIWGTL(HSSLILIBLLD CLngl @b Fppbs FSFenFwmGLb.
@GP BH6T
A) |, Il opmid Il sflwimeseneu B) I, Il opmuib IV sflwnereneu
C) | wpmib | sMwreena D) | " ®b &M
GG @uet(h) Bsesser O\sT(HdsLILIL (Heitaret, euadlymidsed (A) pmitb smyewrid (R).
GG OsrhssLiLL Rerer @pluibhsaicd @) bba 2 Biser LFmevd Csiinh0ls(HdbsaLb.
(A) : D3 alengounet aNerdsssTL SujL 65T Faig w (gestestim Glood avLimest) GibLier
QULIMTGH L_Tav&e FEHeTest nleumHmed 2yeTal(h)s% ehL_6iT & Deurd CISmL_iL|
O)E M6ITS GH D GO
(R): perg sppPlis ugmwilliy o sSsmars $H&GL 61hs0laurm Gauemev
Blewestous s Lessilujib (@iig& m Gl Lmevs) HéEevrest mleumnmedle H6vev
wpesrsestiLiLmeTyngs CFwevLI(BHF D).
&DuF B e ©
A) (A) wpmib (R) @uewrpd &M, wpmib (R) eresrigy (A) @esr sflwmes allerdsid
B) (A) wopmyib (R) @uessipid &), yewmev (R) eresriigy @)esr (A) Frilwnet adllendsid ojebev
C) (A) #f, germed (R) seuprens
D) (A) seuprensg, gy ermed (R) #f
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77.
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79.

80.

Choose the correct sequence of basic strengths emerging at each stage of
psycho-social development, as proposed by Erikson.

A) Hope — Will — Purpose — Competence — Fidelity

B) Hope — Purpose — Will - Competence — Fidelity

C) Will - Hope — Competence — Fidelity — Purpose

D) Purpose — Will — Competence — Fidelity — Hope

Find out the answer from the codes given below.

Major tenets of Freud’s Psychoanalytic approach to human behaviour

I. Psychoanalysis is based on the principle of monism.

Il. Freud’s principle of constancy is accepted by non-psychoanalytic schools as well.
lll. Freud proposed rigid and universal developmental phases.
IV. The theory of libido was modelled after electrical concepts.

Codes:
A) |, Il and lll are correct B) I, Il and IV are correct
C) Il, lland IV are correct D) I, lll and IV are correct

Find out the answer from the codes given below.

The neurobiological basis of emotional experience suggests
I. Amygdala-Orbitofrontal limbic division facilitates the development of unconscious
emotional information.
Il. Hippocampal-cingulate limbic division integrates cognitions into emotional
processes.
lll. The right hemisphere subserves positive emotions.
IV. Female subjects develop pathological crying with left-sided lesions.
Codes :
A) |, Il and Il are correct B) Il and IV are correct
C) I, Il and IV are correct D) I and Il are correct

Given below are two statements, Assertion (A) and Reason (R). Choose your answer
from the codes given below.
(A) : Older people show a reminiscence bump while recalling personal

memories.

(R) : Life-script theory lends support to the reminiscence bump shown by older
people.

Codes :

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

C) (A)istrue, but (R) is false

D) (A) is false, but (R) is true

The pioneer who attempted to associate the changes in the life of a patient with
illness using ‘life charts’

A) Adolf Meyer B) Holmes and Rahe

C) Walter Cannon D) Kobasa
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2 WTTEF eiialdF 6T pIbLliiey g Liienl Qg LMbgienTsH D).
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81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

Fill in the blank with the correct word.

The story is that there has been a great
i. climatic ii. climactic

A) i B) iii

Add suitable question tags.

a) Wait a minute,

b) Somebody hasw
i. willyou ?,isn’tit ?

ii. would you ?, have they ?

A) i B) iii

Insert suitable articles.

disruption, a deluge.
iv. none of these

iii. climate
i D) i

C) iv

ii. canyou ?, haven’t they ?
iv. none of the above

C) i D) iv

Tiger, animal equal to lion in size is native of Asia

i. the, an, a, the

A) iv B) iii
Which of the following is correct ?

i. miniscule, persue, bourgeoisie
iii. minuscule, pursue, bourgeoise
A) ii B) iv

The antonym of accidental is

i. unintentional ii. incidental
A) iv B) i
Identify the synonym of diatribe.

I. inarticulateness
iii. to praise somebody

A) iii B) i
One word for extreme fear of dogs.

I. cynophobia ii. ophiophobia
A) iv B) i

ii. the, an, the, a

iii. a,the, an, a
C)i

iv. a, the, a, a
D) i

ii. miniscule, persue, bourgeoisie
iv. minuscule, pursue, bourgeoisie

C) iii D) i
iii. intentional iv. none of these
C) iii D) ii

ii. unresponsiveness
iv. verbal attack against a person
C) iv D) i

iii. ecophobia
C) ii

iv. zoophobia
D) iii

He said that the horse had died in the night. Change into direct speech.
i. He said, “The horse would die in the night”.

ii. He said, “The horse died in the night”.

iii. He said, “The horse had died in the night”.

iv. None of these

A) ii B) iii
Choose the correct answer.
a) Neither of the boys

b) Everyone of them

i. was, were
A) i

ii. were, was
B) i

C) iv D) i

on time to catch the bus home.
going home early.

iii. was, was
C) iv

iv. were, were
D) iii

State whether the italicized verb is a dynamic verb or a stative verb.
Dynamic and stative verbs seem very confusing to some people.

i. stative
iii. both dynamic and stative
A) ii B) i
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